H £ 0l & AF & S

Al A

A ENSE L
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CA2EE 3,262,338 3,889,819 A\627 ,481
= 450,950
Al 2,811,388
A2 2Y 2,749,786 3,471,194 NT721,408
== 450,950
Al 2,298,836
2ot AL 264,000 315,000 /51,000
HdFEINOASHENE 245,000 245,000 0
201 2egh=3| 205,000 200,000 5,000
01 At2t2ltl 20,000 20,000 0
OXF=NIASHZAA 20,000
03 A= SHI 185,000 180,000 5,000
OdF==NIASH=AA 185,000
301 EetE2 N = 40,000 45,000 A5,000
09 2B =AY 30,000 25,000 5,000
OEFIHIASH-AA 30,000
11 ALEIXIES 10,000 20,000 10,000
OXF=NIASHZAA 10,000
d== g™ JI8H 9,000 40,000 A31,000
301 EtE NS 9,000 20,000 211,000
14 IIEt2 83 9,000 20,000 A11,000
Od=_1gJ|SH 9,000
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SMTE AL 439,000 579,500 140,500
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308 AtXIEHMSOIE 10,000 10,000
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Al 1,425,336
SEX2EA2 29 1,463,786 1,829,574 A365,788
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& 19,440
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Al 802,9%
03 QX HER2GHIEX 935,975 916,893 19,082
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